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A) 5128 ¥ = et Galoll B.
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€) 5120 ¥ Ul Se2ralz cuAel WS\ B.

D) 51201 ¥ URsRa{l o{ll 2ydl 8.
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C) WRAGR Y&l HoL 2500 UR Rl ol
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English Comprehension
Read The Passge and choose the most appropriate option ( Qs 6 to Q 10)
Artificial Intelligence, or Al, is a technology that allows machines to “think” and perform tasks

that normally require human intelligence. Many people already use Al in daily life, sometimes
without noticing it. For example, when you use a voice assistant on your phone to set an
alarm or ask for directions, you are using Al. Similarly, when streaming platforms suggest
movies or songs you might like, Al is working in the background.

While Al makes tasks easier, it can also raise some concerns. Some people worry that
machines may take away human jobs. For instance, if robots can do factory work more
quickly, companies may not need as many workers. On the other hand, Al can also create
new opportunities in areas like healthcare, education, and transportation. Doctors, for
example, use Al to study medical pictures and find ilinesses more accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely, it can
save time, reduce mistakes, and improve lives. However, people must also learn how to use
it responsibly so that the benefits are greater than the risks.



What is Al mainly described as in.the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.
c) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

c) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?

a) It makes cities louder.

b) It can take human jobs.

c) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

c) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?

a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits depending on how it is used.

d) Al will only be used by students.
Which organization became the first Indian NGO to win the 2025 Magsaysay Award?

202501l RoAA Y512 Welottx yauH eldla [Aat-urs13] e (NGO) 56 B2
A) Pratham -- YUy

B) Educate Girls - %32 el

C) Smile Foundation — ¥ $1God3Uet

D) Teach For India -- Al 512 Shdal

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257
28 312, 20250l 23 Ucll 2R el slRlslA W2 IMFoll WDl al (33522 133

Sl [Aaysel saUMl R 87

A) Arvind Subramanian --- wR(de Yo HRAH
B) Raghuram Rajan -—-  YUH A%el

C) Shaktikanta Das —  l(5<isicl €1

D) Urjit Patel - Gl¥d e



13

14

15

16

17

What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
uaslal Matet {2 @AsAutctcuml A etRdsll yauu Ayel el 32-ofle

HIBS U AMR ollH g B?

A) Bharat-Chip X - @R - X

B) Shakti-2100 -- 2U(5<1-2100

C) Vikram-3201 - [A54-3201

D) Aryabhata-2001 - wl2lelg-2001

Who is the owner of Google?
dpletall HAs slaL B2

A) Sundar Pichhai - €3 QU

B) Alphabet Inc - ACHLAR Ba

C) Elon Musk - 2Acllel 3§

D) Mark Zuckerberg --- wh Q}SQO{OT

Who developed and manages the Unified Payments Interface (UPI) in India?
HRAHL YAH8Ss Aoz Bo2FAU (UPI) 518 [AsLcR] U AU 53 B?

A) National Payments Corporation of India -—- AQlolE Qﬂ.aﬁ\'ﬂ slURalot s (b2l
B) Reserve Bank of India — (323 dls 3g SSdaul

C) State Bank of India — @2 &5 g >l

D) Phone Pe - §lol Q

Who has been elected as the 15th Vice President of india?
ARcloll 15HL GUARUQ ARy Blal Ygaui e B?

A) Jagdeep Dhankhar - %9LElU YolWS

B) Justice Sudershan Reddy - s2ll2lltllet oll. Yeolat 2§
C) Venkaiah Naidu — cl¥2ll ollads

D) CP Radhakrishnan - {L UL AtUEWIet

In which city was the SCO meeting held?
sco HlRot sau adul Awe &cll?

A) Tianjin — (QRUeU(Rat
B) Beijing -—- A8l

C) Shanghai - 2U&ll2
D) Astana --- Acllell



18

19

20

21

22

What was the name of the mission that carried Shubhanshu Shukla to the International
Space Station in 20257

20251 geliy Ysel iRl BcdRet 1as (1s5) YLl e AAl Reloto] otin

9 &q?

A) Gaganyaan --- Il3lel2{lol

B) Chandrayaan-3 - Ualei-3

C) Axiom Mission 4 - V[(EA2AH [Ralat ¥
D) Artemis | -— BUSMY |

What is the full form of MOM in the context of India's space program?
AURcloll Aastal stlsHoll AeelHl Mom of yal azu g 82

A) Martian Orbital Mission - HU[2[2let 2(eect Metet
B) Mars Observation Mission --- H vlleosclatet Malet
C) Moon Orbiter Mission - Hol 0(ele? Ratel

D) Mars Orbiter Mission - HId{ 2{clz? Rl

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 ol ¥s2e eMallet Y3otiiell ARl slaaal HER 243 $AAE Ratole] i g
&d?

A) Operati‘on Vande Bharat - 3UR%tet At lRct

B) Operation Maitri --- BURelet 1Al

C) Operation Ganga - ¥ UR2let d(dU

D) Operation Devi Shakti - ¥lluR3lot & cfl 25l

Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?

AUE gL UAR &AL ugfl U@ sl YsRell [QBas yYollduR w2 urd Mscll
Ascl oledl?

A) Appropriation Bill --U{Ojl-nﬁai @ct

B) Ordinary bill -UHe2 (@At

C) Constitutional Amendment Bill--o{eREllL Yl (At

D) Money Bill - slQU{0lct

Which Commission was set up to review Centre-State relations in India?

@R ol Fon-2%e Aoldloll Aullen scll HERZ 58 WALl UL sclHL vUll 6cl?

Options:
A) Sarkaria Commission--—-3R slFauL w0t

B) Punchhi Commission --ge?.ﬂ eI
C) Mandal Commission-—-HSG 121191
D) Kelkar Commission-—5G52 201



23

24

25

26

27

28

What does the Preamble of the Indian Constitution signify?
aRdlal elutrelell ydtaou g eald &2

A) Division of powers between centre and states-- Son ol AU AR %lﬂlbnd
(Qetteset

B) Powers of the President—-?lbau[acﬂ Al

C) The goals and aspirations of the people of India--GlR cloll olclloll Clal Wal
vistall

D) Guidelines for foreign policy-(AZ gt o{l[Q Hi2etl HLoleH

How many categories of Fundamental Rights are outlined in the Indian Constitution?

el oitzeHl Hoed AURSsRL Sacll Al ealaaui sud 82
A) Five---ul

B) Six-—¢9

C) Seven---dlcl

D) Eight-—-3l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%l ollAotl RE2s Rsicll, yagd wU@sAL @Quld, su2u1c gil 2l 1R

9] 531 ascl o2l

A) They are guidelines, not legally binding---
A Hledls oA B, stofell A curausi3l «iell

B) They are outdated principles---a el Reldl B

C) They apply only to states, not the Union—
A §5cl A2 o] U B, Fosal oldl

D) They require parliamentary approval-—-al d€o{l {3l %33 &

Who admi\nisters the oath of office to the President of India?
AlRctell A UlA e sl sclell quy Slo Huwa B2

A) Vice President--- GW 21 uld

B) Prime Minister-—- cLSL Ytlleal

C) Chief Justice of india--- GllRclell Hul st ellal
D) Speaker of Lok Sabha--CUS™G{lell W LA&L

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

duenl olurglla YuRl [A2s 29 sl USEL 3R ARU MR ofotclH AHANA
secll &lcl AsA?

A) One week - A5 UsclllR

B) Two weeks --- ol UsculSa

C) One month --- s H(@all

D) No notice required -—- 51¢5 aQl@Uo{l %32 o8l

How is the Vice President of India elected?



28

29

30

How is the Vice President of India elected?

@Rl GuRRUQell el 3l A awa &2

A) By the Lok Sabha only--$5c CLSAGL gL

B) By an electoral college of both the Houses of Parliament--{ ¥ €all olol Dl@dl z{ataw
HeAloll feull Hso gLl

'C) By the Rajya Sabha only---§5cl A¥ACU gl

D) By the President-—2%u{d gl2L
Who among has the power to commute the death sentence of a convict in a State?

AAHL EW L calseloll sl uxal tatsaoll vt Slofl W &2
A) Ministry of Law and Justice-—-S{2LEL Ual oAl HAUERL

B) The Chief Minister-—-Hu2(3{>(l

C) The Governor---L%2ULEH

D) The Chief Justice—3u2l c2lt2dlt[lat

Which constitutional body is responsible for auditing government expenditure?
AlRctofl 58 AQtuls el URsReAl WALl AsuQll s @AMRs wACA B?

A) Comptroller and Auditor General of India (CAG)—- @R cloll AU Wl 3323 welc
(CAG)

B} Finance Commission--—dellé’lel s(Mlatet

C) Union Public Service Commission---q@.ud uoas Al s@atet

D) Election Commission of India-—-?-}'\alaﬂ%{lmat



CHARUTAR VIDYA MANDAL’S
Vitthalbhai Patel & Rajratna P.T. Patel Science College
(Autonomous)
VALLABH VIDYANAGAR
Laboratory Assistant Written Examination
Part — B (Series : C)
Subject : Biology

Date : Time ; 120 Min. Marks : 150
Candidate Sign. : .......ccceievininannn Seat No..oeirreeinnnnees
31. aqg $col A .. ... ~eizuld ofl C‘ll&t@é'rdl 9.[Double fertilization is a characteristic of .......plants.]

(1) Y™l [non-Flowering]
(o) Y| [Flowering]
(8 Aol [Pteridophytes]
(s) [3245(1 [Bryophytes]
32. Qalldiadet Qe A .. .. .. ... UAslol of ol AIUD ?

[Tissue culture technique is a form of ............ reproduction.]
() As cl [Hybrid]

(o) AU(A( [Asexual]

(s) (A3 [Sexual]

(5) clloirulls [Vegetative]

33. ulBaul 3 Rall gl sctot (B2 co1R s0Ul [Asulaatdi Wi Aot....... ........... 58 .
[The process by which fruits are developed without fertilization is called ..... .]

@) AWM A1 [Apomixis]

(o) wellsiul [Parthenocarpy]

(8) WTABAR2 [Parthenogenesis]

(S) ¥ §Clal [Self-pollination]

34. ofl Astiniell 520 catruld victsiad WsAsids smoil [Asiua GrilRd s? &2

[Which of the following plant hormones stimulates the development of ...... parthenocarpic fruit?]
(1) 2 6Aet [Auxin]

(o) AtLlsts{let [Cytokinin]
() @alcllot [Gibberellin]
(5) GUR oll 61t [All of the above]



35. dotxulde@l ol Qs ..... .. Hiell &2l [Plant embryo develops from........]
) ollof [Seed]

(00) SO [Fruit]

() 2LelslN [Zygote]

(S) Y™ [Flower]

36. YU of YuA 812 .. .. ..... .. .. g} B. [Main function of Flower is.........ccovevre. ]
(@) VLS A3Le [Food storage]

(01) YUl $clell [Fragrance]

(5) U¥olal [Reproduction]

(S) ﬁ%ﬂ@ld [Decoration]

37. Aysdl clolru(d oll gQL.............. 8l2L 8. [Embryo of flowering plant is always.............]
() Haploid [n]

(o) Diploid [2n]

(8) Triploid[3n]

(S) Tetraploid[4n]

KL IRVEETEIET o 3UlclR0L B. [Stamen is a modification of.............. ..]
(¥) ULl [Leaf]

(ol) ayollony uel [Microsporophyll]

% Hélﬁﬂ%’lLﬂ uul [Megasporophyll]

(S) UslS [Shoot]

39. YsU oll 520 eiloL UADRY Ussal M2 Alsel slat 8?2

[Which part of the flower is sticky to catch pollen?]
() EAUA [Petals]

(6l) VSL2AA [Ovary]

(5) USUR [Anther]

(5) Bll3212101 [Stigma]

40. [......... HI URLOLRY of UlaliclR0L A s o 1Sl ol Ywu oA a1 B,

| . is the transfer of pollen grains from anther to the stigma of another flower of the same plant]
() »2lall] [Geitonogamy]

(0) GARAIH] [Cleistogamy]
(5) al2loldl [Autogamy]
(S) Bello{l [Xenogamy]



54. AUALCARRIML ........% 5lolol SLRASAYS &% B, [Carbon dioxide present in atmosphere is
() 0.32 (%) 0.0032 (5) 0.032 (5) 32
55. QHSQE{ ol §82<‘ﬂ AlSIR e verennin B, [Natural reservoir of phosphorus is.............]
() VR [Fossils]
() Ao 'l-llLD,ﬂ [Sea water]
() WRllell 51551 [Animal bones|
(5) WSSl [Rock]
56. [Qaul crcloll el ay o0 uu.................. GUOLHL Slell HAL B,
[The highest density of world population is found in............... ]
(@) U x YA [Western Europe]
() el@a-yd AR [South-East Asia]
(5) e@R-u@n AR [South- West Asia]
(5) (AL HAR 8L [ South America]
57. clc{ld i €2 sl WEAA A .. .. ...... B, [Study of population rate is known as......... ]
() 201Gl [Topography]
«) Sallonst [Demography]
(%) W@ausl [Polygraphy]
(S) o148l [Geography]

58. Gl cloll $EL U¥olol €2 (TFR) dlBdRHl udlal.... .. ... ol +d? UR il ot B.
[India’s total fertility Rate (TFR) Has recently dropped to the Replacement level of ......... ]
) 2.1 (o) 2.5 (8) 2.7 )3

59. Yollefes alAle BlajAlR 2030 YLl el ctoll BEURA axcll 3ecll 8312
[What is the projected Population of India by 2030 as per the United Nations?]

() 1.3 BoL% [1.3 billion] (¢4) 1.% A% [1.4 billion]
(8) 1.1 A}6L% [1.5 billion] (5) 1.9 A% [1.7 billion |
60. WA ARY Bllea 1l calsazllel A2 dvallA .. oo . 53 ©.

[What term describes the average number of persons per square kilometer?]
) ccl C{@ [Population Growth]

(o) el (A8l [Population Distribution]
(5 el eotell [Population Density]
(5) cc{l Uil [Population Composition]



61..... ... A APlall cdualz da A AHetl WAlaR A A 3l A Ba-uQBal o) ueuiu d.
[... we .. is the study of how organisms live and how they interact with their environment?]
V) ®c(Astiel [Biology] .
(&) cetru(A3Ut [Botany]
() WRllaut [Zoology]
(8) URRA[A[Astiet [Ecology]
620 eererreenn Wl ® B vlAs ddld cotruld 2 el oia ol Gu2Alot 52 .
R are animals that feed both on plants and animals.]
() JusL3l [Herbivores]
) udetell [Omnivores]
(5) [Quezst [Detritivores]
() vuuiell 516 o1l [None of these]
63. AEE 8ol AR clloll A2 olln.. ... ..... .. dsllells ol Hict AN BD.

[Shelford’s law of tolerance is named after .. ....... .. .... ]
() B AeslS [James Shelford]

(o) B5lol ek [Jaccob Shelford]
(5) ¥o(e AcHS [Ernest Shelford]
(5) USRSt Aes S [Eistein Shelford]

64. o{lAsttuiell st 51 W2 AluHLet HecayQl B?
[Temperature is important for which of the following functions?)
(M) alds [Solvent]

(o) Retell@s U@ [Metabolic activities]

(5) ‘;lSlQl%'lQthlQl [Photosynthesis]

(S) MUl [Respiration]

65. o{l Aot il 52 Yeell u Alell g 'stolet RAs' B2

[Which of the following is the largest ‘carbon sink ‘on the earth?]
(3) dldldRBl [Atmosphere]

(o) 12l [Soil]
(5) HELMLIR [Ocean]
(5) %9LEAl [Forest]



66. Uyl §6i A SRUCA Al AolY ..., 33 Uit B,

[Relation between sea anemone & crab is known as.............]
(A AL ol2RAY [Antibiosis]

o) siAU@BH [Commensalism]

(5) ¥ul [Competition]

(S) &L [ Predation]

67 wrveree onnn. A 852U S BatulQBan B. [--eeeeerenee.. ds a positive interaction.]

() @&l [Predation]

(0) WU cllcll [Parasitism]

(5) URURdLE [Mutualism]

(5) VR oUANRY [Antibiosis]

(3 T A AYel WAu dle] GELEQ B is example of total parasite]
(1) (Ss [Orchid)

() L%l [Lichen]

(8) eHl2 5 ACA [Hermit crab)

(S) MHR a.C't[Cuscuta]

69. vl s¢ cetzuld °b’(j@l&ﬂ 87 [Which one of the following is an insectivorous plant?]
()AL UL [Monotropa]

(o) [QrsM [Viscum)]

(5) Ao AH [Santalum]

(S) slaRL [Drocera]
70. Blcl Aol 3 BHi As uAnd olly wrQet dld cdt AnA AA . ........... 53 D
[A relationship where one species benefits at the expense of another is known as ........]

) WU clcll [Parasitism]

(61) URRURAULE [Mutualism]

(5) AR ollRAX [Antibiosis]

(5) AARUABH [Amensalism]

71. Y2cllell HERJU @ULdLol YUl €25 5L B? [What is the main component of the Earth's core?]
(1) A EA% ot Aol AlB Aot [Oxygen and Nitrogen)]

() 818 8loset Wl RAS\ ot [Hydrogen and Silicon]

(5) (s ol vUA| [Nickel and Iron]

5 E.Q@ aAclt Cll?J?)n Bl wssl [ Frozen gases and rock]

7



72. lj,%cﬂ Aol Y& A} iR 32¢] B2 [What is the distance between the Earth and the Sun?]
() 149.6 Millions kms
(1) 15.98 Millions kms
(%) 169.34 Millions kms
(5) 179.67 Millions kms
73. y2cll A AMs el Al 12 cAtusu :ellsd Rgid ............ B
[The widely accepted theory for the formation of Earth and the solar system is the.................. 1
) HsllAs1e Rgld [Big bang Theory]
(¢) AlojedR YdulRRl [Nebular Hypothesis]
(8) YuRellall YU [Supernova Hypothesis]
(5) A& YA-URRU [Planet Hypothesis]
74. YeclluR Ay 29 dotoll GEMA .. .. .. Ml &2l scll.[Firstly, life on the earth was originated in .. .. ..]
) wel (Water]
(o) &l [Air]
(5) écll [Plain land]
(5) Ul [Mountains]
75. yecllott WiRals dotssiil Bed s¢5 vaell ool 8cll? [Which event occurred last on early Earth?)
() wAete] AUIQL [Ozone formation]

(¢ well uR UV stal s?la vlsRowet vial sLEFFl¥el (LA [UV acting on water to form Oxygen and
Hydrogen]
(5) L li&CﬂHliﬂ CO, Gl [CO; release from molten Earth]

() ol yecluiell NH; GRl%st [NH; release from molten Earth]

76. AU AMRS BesilAol RaldR vaud WA AsUAA B 3 yauH R dlef clsat st WAL .. .. ..
GgcRl &cll. [The theory of chemical evolution is associated with the concept that the first information
carrying molecules to arise were.. .. .. .. .. .. .. ]

() Wélet [Protein] (¢l) DNA (5) RNA (5) ATP

77. Qlﬂlﬂ@s Gesildel Rgld ?:l@] 2% sl scAl? [Who proposed the theory of chemical evolution?]
() st{det [Darwin

(o) QxS [Lamarck

() ¥UURst [Oparin]

(5) 32 [Haechel]



78. PLetR-Y2 YAlolMl 52Ul Ustell QA AR §clt?

[Which types of molecules were formed in Miller-Urey experiment?]

(1) AM A ARS [Amino acids]

(o) ¥R 52U [Simple sugars]

(8) sclls LIRS [Nucleic acids]

(S) s(2ct Wélet [ Complex protein]

79. AU Yecllatl cllcticlRQMl 52l ] §1%R ol §cll?

[Which gas was not present in the primitive Earth’s atmosphere?]

(1) M Ast[Methane]

(o) N (A2 [Ammonia]

E)] Uﬂ@%ﬂ[Oxygen]

(8) Wello{l aRi[Water vapor]

80. AU AWML Gesild stz avlacuni wwadl uBGaa.................. BRI ENIEIRENE R

[The process describe by chemical evolution is also known as ...................... ]
) *%(ds [[Biological]

(o0) Aoi2AlRA[RAA [Abiogenesis]

(5) §E?rﬂ ueall [Natural selection]

(5) 2Ulojcl@ls Uclls [Genetics drift]

81. ....... Y3RARS Slnie] “Ho1%” B.[The "brain" of the eukaryotic cell is.....]
() skl YyA [Mitochondria]

(@) sleoll sl [Golgi body]

(5) 518 30s [Nucleus]

(S) B c:sRUA N [Endoplasmic Reticulum]

82 oo o{l GRLU el Uie stallMl sAlRAR A SR8t ¢a B.

[Deficiency of .......... causes chlorosis in older leaves.]
() 3[ARAN [Calcium] () stelet [Carbon]

($)A SN [Sodium] (5) RoaA 21 [Magnesium]
83. SlMRY of Alduls alall W Adi AS Aot A ... ...... 53 D,

[The cytoplasm shrinks in a hypertonic medium is called....... ]
() YRRl [Diffusion]

(61) RUAS Ast [Plasmolysis]
(5) @A URWL [Osmosis]
() vlct:20net [Imbibition]



84. “5\M” AGE S1Q U2 ? [Who coined the term “cell”? ]
) A Ad [Gorbachev]

(o) (3131612 [Himmler]

(5) A& &5 [Robert Hooke]

(5) &JAo18lS [Leeuwenhoek]

85. vltHiell 565 22uatll wRll slellul AstesR 8?2

[Which of these structures is absent in animal cells?]
(1) 51N (2 cltet [Cell wall]

(o) 814306 [Nucleus]

(5) AEET [Cytoplasm]

(5) S\MU2E [Cell membrane]

86. e ceererree e oo A AYUINS Al B, [ ....... .. .. IS 2 trace element.]
N oll_st [Boron]|

(o) Ut [Iron]

(%) B¥s[Zinc]

(5) GUR oll eLtli%s [All of these]

87. 9 cRYU Hl .. .. % Walat slauB. [Protoplasm contains....... % Protein.]
() 9-10

(o) 80 - 90

($)10-20

(5)2-8

88. [Qudla %{@%{?Ql RN E1 & Ut Al V. [Reverse osmosis is also known as.... .. .. ..

() elaURA(5E 2ot [Hyperfiltration]

(o) Alu@uR Bl [Hyper osmosis]

(5) Ac§(AU20L [Double osmosis]

(S) UdReul [Diffusion]

89. Ueallyscl utRotd gl wellett YR8t A ... ... 58 D.

[Diffusion of water through selectively permeable is .........]
(20) RUASL Aot [Plasmolysis]

(1) w(el20 QL [Imbibition]
(5) YUREl [Diffusion]
(5) v 121 [Osmosis]
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90. .. .. ... A LU ¥ cloirula Vil 228 Wefloy cleclloll 32 .

[Plants need essential minerals was first proposed by....... ]

(1) R1uet [Simpson]

() 43| [Muree]

(5) dlolol A 221B2 [Arnon and stout]

(5) vIRRled [Aristotle]

91......0 s WOl RLo] vlo{lowcleet 29[ is an important mineral nutrient.]

() 8l Qloet [Hydrogen] (W) st [Nitrogen]
(8) sA¥et [Oxygen] (5) stolet [Carbon]
92. e vvceeeene A AYUNS A AL ... is not a trace element.]

() AlSl2AN [Sodium]

(60) llRlet [Boron]

(8) slolel [Carbon]

() (35 [Zinc]

93, wHIAl 53 URon Y0l ofl Flaul Uz vA 52 D 2

[Which of the following factors affect the process of diffusion?)
() &<l [Air]

(¢1) WSl [Light)
(%) well [water]

(5) cllUHlel [Temperature]

94. 0l&AS\NSodl2 DNA.. .. .. ...Hl %lcll HA B, [Extranuclear DNA is found in.....]

() lollAAN [Ribosome]

() 8 A58l [Chloroplast]

(8) eallsiad [Golgi body]

() Bc:sluUnm [Endoplasmic reticulum]

95 &Rclslt Hi ustel UBA1 sall &l B7? [In chloroplasts, where do light reactions occurs?]
(M) cllelved [Outer membrane]

(W) wuldRsued [Inner membrane]

(5) WBASIS8SUSA [Thylakoid membrane]

(5) 21 [Stroma]
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96. sQUeY (R ETS Hi QA SAsglot 2clstz g SlA D 7
[What is the final electron acceptor in the mitochondrial electron transport chain?]
(Y FAD

(ol) NAD+
(8) vllsloget [ Oxygen]
() Well [Water]
97. ol Acttutiell 52U eloLHL ETS &l2L B? [ETS is present in which of the following part?]
() 5RUAHYA [mitochondria]
(o) $1M 306 [Nucleus]
(5) AULSUAM [Lysosome]
(5) olleollsiad [Golgi body]
98. i A slno(l AAQL Gl sdallal @.[. cseemeemeraadS called the energy currency of the cell.]
() AlSUSIH [Lysosomes]
(o) ARt [Oxygen]
(5) ATP
() 5BUEYA [Mitochondria]
99. Y5121 2ANQLe{l viusR ulsau 4. .. .53 . [Dark reaction of photosynthesis is also known as......
() [3ct uglauw [Hill Reaction]
(o) st us [Calvin cycle]
(5) Agla s2slsllad et [Cyclic photophosphorylation]
(S) wusl2A slelslasliadatet [Non-Cyclic photophosphorylation]
100. ...... .2 Quoi uld? slGA 58 @.[ ....... is known as power house of cell.]
(W) AUSASIH [Lysosome]
() sQUALYA [Mitochondria]
(5 PR [Nucleolus]
() 0e(ls12 [Golgi body]
101. s SNl &S'a%qeﬂot GelUst 53 8.2 [which cells are produced Insulin?]
() esL SN [Alfa cells)
(o) oflet SIML [Bita cells]
(5) oULHL 1Yl [Gama cells]
(5) 3cel s\ul [Delta cells]

12



102. 20Uy AZ1R 59 (QetPat Geuet 52 ot2ll?

[Which one of following Vitamin cannot be produced by our body?]
) A

(@) K
(5) C
() UHL =il 6Lt [All of the above]
103. UtAet 1101 1A As0uAcll 91 56 B? [which gland is associated with Digestive track ?
(W) 4§ [Liver]
(0l) eltg (s [Pancreas]
(%) cAlnif [Salivary glands]
(5) GURell aitllos [AlLl of these]
104. dElotl WAt dotell 20 oL WIS E0clle] SIH 5ID?

[Which part of the cockroach's digestive system is responsible for grinding food?]
() UstAd [Crop]

(o) Rl [Gizzard]
(5) %62 [Stomach]
(S) BiclRS [Intestine]
105. A€M .. e ..o, BLRA Ged%el QI & ? [Excretion in cockroach is performed by
) WA a2t o(@s120 [Malpighian tubules]
(o1) GRU(Ist [Nephridia]
(5) g2l 5Nl [Flame cells)
(8) YA[ds [Kidneys]
106. slloll il Slo] WaLLs 512l .. .. ..52clla] B. [The primary function of the small intestine is
() Wlle] MGl [Absorption of water]
(o) Sloﬁéltﬂavj Wlel [Digestion of carbohydrates]
(5) UMS cleclloj MBI Absorption of nutrients]
(5) Rt ol doLe [Storage of bile]
107. Wet Hi At of 5121 g B? [What is the role of bile in digestion?]
(ELY) U2ell ARsA [(ABa 52 D [Neutralizes stomach acid]
(o) AR6{lo] MA31QL 53 B [Emulsifies fats]
(5 NELE a Qe 53 B [Breaks down of proteins]
(5) 6AUS ofl (52 Gl 52 B [Stimulates enzyme activity]
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108. ot cloAell sAL GUILUL, clld] of QML a2 B2

[In which part of the respiratory system, gaseous exchange takes place?]

() AeABE [Alveoli]
(1) 335U [Pharynx]
(8) 56%2lol [Larynx]
(5) *¥otell [Trachea]
109. o{l Aottniell 3?:1 ‘Ell%lcl(fﬂcj st 87 [What is the primary function of the trachea?]
() cly QRua [Gaseous Exchange]
(o) 35U Yl sclle] UR gt [To transport air to the lungs]
() ecltat ($e2R 52 [To filter air]
(5) ol BeUol [To produce sound]

110. §6:lol & .. ........... Ul 53clli AU 8. [The Larynx is also called the .. ...............

() 33losU [Pharynx]
(¢ ¥8l [Lungs]
(5) 2202l [Voice box]
() AcAAMel [Alveoli]
111, AU Bl ofl (Bal.. .......... .. HL WA BD. [Fermentation occurs in the................ ]
) U5 oatall sLogdl [presence of oxygen]
o) WAoot N26193N [absence of oxygen]
(5) ol satofl sLo3l [presence of nitrogen]
(5) stolotell slordl [presence of carbon]
112. scllas (Al st el 87 [Where does glycolysis is occur?]
(3D SRUEYA [Mitochondria]
(#) 818 &o% [Nucleus]
(5) SlARUs [Cytosol]
(5) Rollala [Ribosomes]
113. ol ASUARY 00216t of SRl As wHHL ] ........... HA

[What is the net ATP gain from one molecule of glucose during glycolysis?]
(1) 2 ATP

(&) 4 ATP
(5) 6 ATP
(S) 8 ATP
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114. Hlolcl 35AHL 81%R AcAlell ofl 56t UEUBA Avall BERA .

[The total number of alveoli present in the human lungs is estimated to be around........... 1
() 1 billion (¢l) 800 million
(%) 500 million (S) 1500 million

115. SAAS Al A .. .. ...ottHell ugt AL B?[Glycolysis is also known by which pathway name?]
() 361Us [ Kreb's cycle]
(o) sAU UL Wad [EMP pathway]
(5) 8As3lot gl W& R U [Electron Transport System]
(5) WA U Ul-2l2 [HMP-shunt]
116 ol ASUARYU Uls2l €020l 9813 oll URMIYe] .. ...... .. Hl Qe d L B,

[Glucose molecule during the process of glycolysis is broken down into.............. 1
) 4 wiz(ds VRS [4 pyruvic acid]

(o)) 3 Wazlds RS [3 pyruvic acid]
(&) 2 Wwaz@Qs AR [2 pyruvie acid]
(5) 1 Wwz(As AR [1 pyruvic acid]
117. A6l ol [Qetzet 2 g Ms gLt 520 GAUS Geusr Ul B?

[Which enzyme, produced by the pancreas, is essential for breaking down fats?]
() WHIS A% [Amylase]

(o) LSy [Lipase]

(8) &uRet [Trypsin]

(5) Y51 [Sucrose]

118. Wélot of [Qetet 520112 WA GRAUS Yy Ul el HA D?

[Where is the enzyme pepsin, which breaks down proteins, primarily found?]
() olla] WiARSL [Small intestine]

(0l) Asd [Liver]

(8) %62 |Stomach]

() U [s [Pancreas)

119. Al s AR oll vu2cB MY, Bi[AH BAsAet 2e\8L26U12.. e ... . . D

{In Jactic acid fermentation, the final electron acceptor is.. .. ....... .. .. |

R Ales ARS [Lactic acid
(6) WA2A2 [Pyruvate]

(5) U (EA %t [Oxygen]

(5) NAD
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120. AEA3Z o slRalAAAA W2 %32 ... o] 36UUS gl GUlEol Al B,
[Product of Krebs cycle essential for oxidative phosphorylation is ............ .....]
() NADPH and ATP

(ot) ARLSE CoA [Acetyl CoAl

(5) COz¥a BsALABN22 [ CO; and oxaloacetate]

(5) NADH and FADH;

121. AAAR U Aot <UL SR@. (| Gulu Ay @[.......deﬁciency occurs due to Thalassemia disease.]
(1) AdsQL [WBC] (6)) 5158 [RBC]

(5) ALssQL [Platelets] (5) 2(82 [Plasma]

122. (02 of 52 UlElot VNEA oL clgol U2 HAUELR B?

[Which blood protein is responsible for transporting oxygen?}

() 8lA%e1[Collagen]

(o) @mx—n@d[Hemoglobin]

(%) 22122 [Plasma]

(5) W {lot[Myosin]

123. Y& 3@? af cdAget.............. gl e 8. [Pure Blood is transport through...............]

) @21 [Vein]

(ol) &EU [Heart]

(8) 353 [Lungs]

(5) [ [Arteries]

124. (12 2sta{l ereltedl (Sau Ml sell w2 sl MEE 52 B?

[Which components are helps in process of blood clotting ?]
() Actstl [WBC]

(0) 25580 [RBC]

(5) 2A5SCU [Platelets]

(5) Asupl dé\[none of these]

125. @Ml ocllejcllotaf stel 9 §lat B2 [What is the function of globulins in blood plasma?]
) AR clget [Oxygen transport]

(W) dR&eute(Q [Defense mechanisms]

(%) 2[R o dislg [Blood clotting]

(s) 2y cll [R2AM st [Osmotic balance]
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126. 97% WEAXet .. oo .. . Gl el WA B, [ 97% Oxygen is transport by ................. ]
() 2(023 [Plasma]

(o) 5dsBl [RBC]

(5) A58 [WBC]

(S) ALssBL [Platelets]

127. 3@.2 seal HBQ.Oj Ol«HC:i sla 872 [Blood is made up of how many components?]

(D2 “)3 (5)4 (5)35
128. GULEARSASR of URN2A W clol 32 SlAB? [What is the average life span of RBCs?]
) 1 month (1) 4 months
(5) 8 months (5) 12 months

129. 2 (02118l R ololtaall 53] U2s £2 saALHl WA B?

[Which component is removed from blood to form serum?]
() uldsc [Antibodies]

(o) BU60>)[et [Albumins]

(5) 2clo3ellot [Globulins]

(5) dtgtall of URel! [Clotting factors)

130. A&l diglant 52 Uldlel HEE 3U &Ll B? [Which protein plays a crucial role in blood clotting?]
(1) BUoMet [Albumin]

() L[t [Fibrinogen]

(8) ocllecllet [Globulin]

(S) oot [Hemoglobin]

131. 3@2 R @RS AU B, [Blood is stained with .............. 1

() Mell@at 62y [Methylene blue]

(o) A3 (elat [Safranin]

(5) AS AU [Leishman stain]

(5) S0 Alst [Eosin]
132. (812 S\Motl MRl yglal A .. .. .. 53 B. [Process of formation of blood cells is called .......... ]
) EcuSRU [Haemolysis]

o) dullglatet [Haemozoin]

() Ry [Hematopoiesis]

(s) 311182 [Haemoter]

17



133. 58I o S0lRcllet ........... 8. [Graveyard of RBC is.....ceceeeun. ]
() ot A [Spleen]

(60) Agcl [Liver]

(5) Y2s [Kidney]

(5) WESH™Y [Thymus]

134 (A0l sl SIN) uldsclell Bl 53 7 [Which blood cells secrets antibody?]
(1) SN 1Sl [Eosinophil]

(o) M=l S 2 [Monocytes]

() c@sL8\N [Lymphocytes]

(5) 421§l [Neutrophils]

135. Hietcllott R R8N of UMRL S2c 25 8l B2

[How much blood cells are present in Human blood?]
() 55 % () 50% (5) 35% (S) 45%

136. WUl oltett 28N .. .. ........ D. [Smallest blood cell is................ ]

() ellell ARSISIN [Small lymphocyte]

(o) 255l [Platelet]

(5) 5csQ [RBC]

(5) o2 $lc [Neutrophil]

137. Hield A1l Aellay @251 .......8lA8. [Most abundant blood cells in the human body are.....
(W) Actsel [WBC]

(0l) 51580 [RBCs)

(5) AL 50U [Platelets]

(5) Lelo3HL 1Y [Plasma Cells]

138. 302 ol WHIA pH .. ........... .. 82 B. [Normal blood pHs .............. ]
(Y7 (A1) 7.2 (5) 7.4 (5)8
139 2812 o2 o{l 2t 518 5412 [Who discovered blood groups?]

() S, N2el [F. Galton]

(o) s1d (@A [Carl Linnaeus]

(5) Asd$ Bol? [Edward Jenner]

(S) Aosal? [Landsteiner]
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140. o{lAsit ERAAS JRAglo{122(AtVNS) D. [The following hormones are neurotransmitter]
) Afleifeslet sl wA AA2o{lot [Acetylcholine and Serotonin]
(@) SARRSISRA A Al21S eSSt [Cholecystokinin and Acetylcholine]
(8) Wlellldot A A2ASAS\CALES oL [Adrenaline and Acetylcholine]
(5) ARSI A AZl@ot [Cholecystokinin and Adrenaline]
141.. RBCo{l Wlell 20l 2vaul Wtk Aa..........nn Hi et 1A B.
[The lowest RBCs number is found normally in.. .... .. .. ..]
() sttt Qg [Newborn]
(¢) WS [Child]
(8) Yl YN [Adult male]
() Yuel HElEL [Adult female]
142. QAo wiell ... ... ui DNA 5[(1 sl 2 [DNA is not present in out of below.... .. .... ]
(V) s [Ovam]
(o) dlrsllH W [hair root]
5 uRusa Y5(Q] [Mature spermatozoa]
(5) Yucl RBCs [mature RBCs]
143. AR5t AL .... .. .. ol 51RQ WAL B. [Lymph is differing from blood due fo ........ ]
() LALHL ot dleltsll [no plasma]
(¢4) cYy RBCs el w3l WBCs [more RBCs and less WBCs]
(5) &Y WBCs 4l RBCs oll 4eiL< [more WBCs and no RBCs]
($) WElet (Aot of Lel23ML [plasma without proteins]
144, At ol W@ SAL ...e........ D. [Characteristic of Basophils cell is creeeeeenneens]
() 8\ 3e4 oll vellel [Nucleus absent]
(&) 100-130 (2 cltell YL URAA B [Have a life span of 100-130 days]
(5 @Lﬂm&&qu ofl 513l [Presence of lymphocytes]
(5) 3218l Y5 52 [Can release histamine]

145. 3(Q201s1cl M2 %331 @Qat{lot....... .. 8. [The Vitamin essential for blood clotting is............]
) A () B
(5) C (5) K
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146. YR H AEll e B SR S Al ......... uleld 8,

[Serum is differs from blood because it has lacks of ............... ]
() 250l yRaol [clotting factors]

(o) AR SLS [antibodies]
(8) Uco}No¥ [albumins]
(5) 9 0=|(A st [globulins]

147. Hletcleil AEIHL W@A2A2Y 150,000 &l 450,000 Uld......... .
[In Human platelets are 150,000 to 450,000 per .......... of blood.]
(1) 100 Milliliter

(«) 1 Milliliter
(%) 1 Microliter
(5) 10 Milliliter
148. LA 5AsRlloll LUK Ael HIZ 52U 5cl YU ULARS ELcll ARLUML 21 B,

[Which blood group is considered the universal donor for red blood cell transfusions?]
() A positive]

(¢l) AB positive
(5) O negative
(S) B negative
149, ALEA 251580 U2 Rh uRd sl slclt HOL 82 [Where is the Rh factor found on red blood cells?]
) S\™%0% Ui [In the nucleus]
(60) ¥ULZl UR [On the Surface]
(5) 51N ofl vi€R [Within the cytoplasm]
() B A #1SIAEA Attached to hemoglobin]
150. Rh uRaia.............. ol 2l Ut Aouteltil AULA B.[The Rh factor is also known as............ ]
(1) ABO A%<l [ABO antigen]
(o) R3ud WR® [Rhesus factor]
(%) RoAlA AR R ot [Hemoglobin antigen]
) LC‘lLOQHlu[as'\CZl [Plasma antibody]
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